FEKih s (BRKith4a) No.1 7 EFREEE(HFRH)
HKERH EXh B 47644 A 168 | S 716458 70 | 71646 A258
FEIKERZ — (%EE) 10:22 10:20 10:27
KB °C =18 17.3 19.0 251
— = 18/ml 100 0 0 0
AGE — [maEnmnce TR iR TR
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.009
DHOOOEER meg/L|  0.03 0.006
cJoE/OO0A2y  |[mg/L 0.1 0.002
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.017
ko 0OOEFES mg/L|  0.03 0.006
JOESH/O00A4 |me/L|  0.03 0.006

KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
Eﬁ’ﬁl’%_ VLRUED mg/L 0.2 0.017
HEVZDIEEY mg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.001
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 8 8 9
AREZREY mg/L 500 62
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.8 0.7 0.8
pHIE — | 5.8~8.6 7.3 7.3 7.3
Bk — |BEThHLIE EEihL EEaL BBl
BER — [Bgonnce| BEEaL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1LLE 0.7 0.6 0.7
e8| 5% Bt o R mg/L 20 5
Bl|E =52 E(TON) — 3 4 A A
e TR . SIEELUELE
BRGSO TITIER)| — “f.i?é“":ﬁ -1.6
i)
REXEHE @/m| 2000 1
z TILHE mg/L — 30
o ERmERE 4S/om — 95 93 100
ﬁﬂmwrbAMv mg/L — 12
LNRBRIEE260) | — — 0.009 0.008 0.009




FEKih s (BRKith4a) No.2 /NEFEREMEAHIERNR (FEF)
HKERH EXh ; SH64E4 5238 | $F16%5821 H| $H1646 A 4H
FEIKERZ — (%EE) 10:50 10:41 10:00
KB °C =18 18.1 214 223
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
sookiLLs meg/L|  0.06 0.014
DHOOOEER meg/L|  0.03 0.006
cJoE/OO0A2y  |[mg/L 0.1 0.002
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.023
k)OO OEFEE mg/L|  0.03 0.009
JOESH/O00A4 |me/L|  0.03 0.007

KooERILL meg/L|  0.09 <0.001

BIRILLTILTER mg/L|  0.08 <0.005

EHEMRUVZDEEY [me/L 1 0.004

4@17':’%“%—'7""&”%0) me/l| 02 0.025
HEVZDIEEY meg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.004
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 8 8 8
AREZREY meg/L 500 72
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ek Sk A1 I 0.7 0.7 0.7
pHIE — | 5.8~8.6 7.3 7.3 7.3
Bk — |BEThHLIE EEihL EELL EELL
BR — |'gchunce| B4l BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02

& TR BIER mg/L| 0.1 E 0.6 0.5 0.6

e8| 5% Bt o R mg/L 20 3

Bl|E =52 E(TON) — 3 4 A A

e N . —ﬁifil}li‘t
BEEGUTITRE)| — %@;oc i -1.6
REXEHE @/m| 2000 2

2 ZIHIE mg/L| — 30

0) %ﬁ{ﬁgg US/cm _ 96 96 103

1&jj)b9@l\’f#> mg/L — 11
LNRBRIEE260) | — — 0.008 0.009 0.009




Bkt R (BCKith )

No.3 HHMEELE— (JRi)

HKERH £ gy |PotA2E HckoRA sk 19A] AiokoR2 B
BKESZ —| & 1@1'”5) 9:20 9:30 1115 11:20
KB °C =18 171 252 22.2 194
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY mg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
Y OOEFER meg/L|  0.02 <0.002
~sook)LL meg/L|  0.06 0.011
CHOOER mg/L|  0.03 0.007
oJOE/O00A2>  |me/L 0.1 0.003
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.021
ko 0OOEFES mg/L|  0.03 0.008
JOESH/O00A4 |me/L|  0.03 0.007
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
4@17':’%“%—'7""&”%0) me/l| 02 0.021
HEVZDIEEY meg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.001
TUAVRUVEFDIEEY|me/L]  0.05 <0.001
Bl A4 mg/L 200 9 8 8
AREZREY mg/L 500 66
DIARIY ng/L 10 < <1 <1
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 <
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.6 0.7 0.8
pHIE — | 5.8~8.6 7.3 7.3 7.3
Bk — |BEThHLIE BEELL EEaL BBl
BR — |'gchunce| B4l BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.7 0.5 0.8 0.8
e8| 5% Bt o R mg/L 20 5
Bl|E =52 E(TON) — 3 4 A A
(== 1PN DN i = voers _
BEBEGU TR %\lg@;m ii 1.4
REXEHE @/m| 2000 0
2 ZIHIE mg/L| — 32
o ERmERE 4S/om _ 94 96 101
1&jj)b9@l\’f#> mg/L — 13
LNRBRIEE260) | — — 0.009 0.009 0.009




Bkt R (BCKith )

No4 #4#iTdmERELZ—(E)

HKERH EXh B 47644 A 168 | S 716458 70 | 71646 A258
FEKBFZI — (%ﬁ%) 9:46 9:48 9:53
KB °C =18 15.6 177 214
— = 18/ml 100 0 0 1
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’f’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.009
DHOOOEER meg/L|  0.03 0.005
cJoE/OO0A2y  |[mg/L 0.1 0.002
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.017
ko 0OOEFES mg/L|  0.03 0.006
JOESH/O00A4 |me/L|  0.03 0.006
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 <0.004
RTINE=GLRUZD | | g2 0.016
A=x?i
HEVZDIEEY mg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.001
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 8 8 8
AREZREY mg/L 500 61
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.7 06 0.7
pHIE — | 5.8~8.6 7.3 7.3 7.2
Bk — |BEThHLIE EEihL EELL BBl
BER — [Bgonunce| BEEaL| BEE4gL]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01 0.001
k05— mg/L|  0.02 0.003
& TR BIER mg/L| 0.1LLE 0.6 0.6 0.7
e8| 5% Bt o R mg/L 20 5
Bl|E =52 E(TON) — 3 4 A A
1= N . —ﬁifil}li‘t
BREGUTITER)| — p:|§@5301: i =7
i)
REXEHE @/m| 2000 0
%7)1/73'”-5 mg/L — 29
0) %ﬁ{ﬁgg uS/cm J— 95 94 98
m DL LAFY mg/L — 12
LNRBRIEE260) | — — 0.009 0.010 0.009




Bkt R (BCKith )

No.5b REBLUAE (SRR)

HKERH £ gy |PoA2A HcEoAA sk 18R] AiokoH2 B
BKEEZ — | (g E) 9:50 9:55 11:50 10:43
KB °C =18 14.0 19.0 215 20.8
— = 18/ml 100 0 0 0
KGHE — |misnmnce T T T
BEUVZDIEEY mg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
Y OOEFER meg/L|  0.02 <0.002
SOkl Ls meg/L| 006 0.016
CHOOER mg/L|  0.03 0.002
oJOE/O00A2>  |me/L 0.1 0.003
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.028
ko 0OOEFES mg/L|  0.03 0.011
JOESH/O00A4 |me/L|  0.03 0.009
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 <0.004
HTINS=DLRUED | il o2 0.020
A=x?i
HEVZDIEEY meg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.002
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 9 8 8
AREZREY mg/L 500 68
DIARIY ng/L 10 < <1 <1
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 <
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.6 0.7 0.8
pHIE — | 5.8~8.6 7.3 7.2 7.2
Bk — |BEThHLIE BEELL EEaL BBl
BR — |'gchunce| B4l BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.5 0.4 0.5 0.5
e8| 5% Bt o R mg/L 20 5
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifil&lft _
BEBEGU TR %\lg@;m ii 15
REXEHE @/m| 2000 0
2 ZIHIE mg/L| — 32
o ERmERE 4S/om — 95 96 102
LNRBRIEE260) | — — 0.008 0.008 0.008




FEKih s (BRKith4a) No.6 HEFEHMEL2—UNEI)
HKERH £ P K T 2 ] KT BT T B
KB — | Bi= E) 10:25 11:05 10:03 10:03
KB °C =18 14.0 20.2 21.3 21.0
— = 18/ml 100 0 0 0
KGHE — |misnmnce T T T
BEUVZDIEEY mg/L|  0.01 <0.001
ANEOOLIEEY  [me/L]  0.02 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.05
Y OOEFER meg/L|  0.02 <0.002
SOkl Ls meg/L|  0.06 0.015
CHOOER mg/L|  0.03 0.002
oJOE/O00A2>  |me/L 0.1 0.003
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.026
ko 0OOEFES mg/L|  0.03 0.011
JOESH/O00A4 |me/L|  0.03 0.008

KJOEHRILL mg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
FHEIRBRUVZDIEESY [me/L 1 <0.004
4@17':’%“%—'7""&”%0) me/l| 02 0.016
HEVZDIEEY meg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.004
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 9 8 8
AREZREY mg/L 500 68
DIARIY ng/L 10 < <1 <1
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 <
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.6 07 08
pHIE — | 5.8~8.6 7.2 7.2 7.2
Bk — |BEThHLIE BEELL EEaL BBl
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.5 0.3 0.4 0.4
e8| 5% Bt o R mg/L 20 5
Bl|E =52 E(TON) — 3 4 A A
e s R —ﬁifil}lft
BREGUTITER)| — P’lﬂﬁfo" i -1.6
i)
REXEHE @/m| 2000 1
z TILHE mg/L — 32
0) %ﬁ{ﬁﬁg US/cm _ 96 99 103
1&jj)b9@l\’f#> mg/L — 13
LNRBRIEE260) | — — 0.009 0.009 0.009




FEKih s (BRKith4a) No.7 3 ILIER (EEH)
HKEHH EX0i B SH644 7 168 | S 16458 7H | $7646 A25H
FEKBFZI — (%ﬁ%) 9:30 9:30 9:33
KB °C =18 14.8 16.3 216
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.011
DHOOOEER meg/L|  0.03 0.006
cJoE/OO0A2y  |[mg/L 0.1 0.003
REER mg/L|  0.01 <0.001
k) \OAR mg/L 0.1 0.021
ko 0OOEFES mg/L|  0.03 0.007
JOESH/O00A4 |me/L|  0.03 0.007

KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
B HERRUVEDLEY |me/L 1 <0.004
Eﬁ’é"%_ VLRUED mg/L 0.2 0.014
HEVZDIEEY mg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.007
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 9 8 8
AREZREY mg/L 500 62
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.7 06 0.7
pHIE — | 5.8~8.6 7.4 7.4 7.3
Bk — |BEThHLIE EEihL EELL EELL
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1LLE 0.6 0.6 0.6
e8| 5% Bt o R mg/L 20 4
Bl|E =52 E(TON) — 3 4 A A
e TR . SIEELUELE
BRGSO TITIER)| — “f.i?é“":ﬁ -1.6
i)
REXEHE @/m| 2000 3
%7)1/73'41?2 mg/L — 30
o ERmERE 4S/om _ 97 96 101
ﬁﬂmwrbAMv mg/L — 12
LNRBRIEE260) | — — 0.009 0.008 0.009




Bkt R (BCKith )

No.8 HEIMEtL2—(2)I)

HKERH EXh ; SH64E4 5238 | $F16%5821 H| $H1646 A 4H
FEIKERZ — éﬁg) 10:15 9:00 8:37
KB °C =18 17.7 22.1 22.0
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANEOOLIEEY  [me/L]  0.02 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
YO OEEES meg/L|  0.02 <0.002
yooR)LL mg/L|  0.06 0.019
DHOOOEER meg/L|  0.03 <0.002
cJoE/OO0A2y  |[mg/L 0.1 0.002
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.030
k)OO OEFEE mg/L|  0.03 0.012
JOESH/O00A4 |me/L|  0.03 0.009
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 <0.004
HTINS=DLRUED | il o2 0.025
=g
HEVZDIEEY meg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.004
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 8 10 8
AREZREY meg/L 500 92
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.6 08 0.7
pHIE — | 5.8~8.6 7.6 7.6 75
Bk — |BEThHLIE EEihL EELL EELL
BER — [Bgonnce| BEEgL| BEE4L]  BEE4L
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1LLE 0.3 0.3 0.5
e8| 5% Bt o R mg/L 20 2
Bl|E =52 E(TON) — 3 4 A A
(< NN BN P~ et _
BEBEGU TR %‘Efo'“ i 1.1
REXEHE @/m| 2000 0
%7)1/7]'”?'2 mg/L — 40
o ERmERE 4S/om — 99 127 105
1&jj)b9@l\’f#> mg/L — 15
LNRBRIEE260) | — — 0.007 0.010 0.009




Bkt R (BCKith )

No.9 FRMEREVZ— ()

HKERH £ gy |PoaA2E SHckoA2A Hc%o 18R] AioFoA2 B
BKEEZ — | (g E) 10:42 10:40 9:35 9:34
KB °C =18 16.3 218 237 233
— = 18/ml 100 0 0 0
AGE — [maEnmnce TR iR TR
BEUVZDIEEY mg/L|  0.01 <0.001
ANMEIOLIEEY  [me/L| 0.2 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 <0.05
Y OOEFER meg/L|  0.02 <0.002
SOkl Ls meg/L| 006 0.015
CHOOER mg/L|  0.03 0.002
oJOE/O00A2>  |me/L 0.1 0.003
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.026
ko 0OOEFES mg/L|  0.03 0.011
JOESH/O00A4 |me/L|  0.03 0.008
KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 <0.004
HTINS=DLRUED | il o2 0.018
A=x?i
HEVZDIEEY meg/L 0.3 <0.01
BHRUVZDIEEY mg/L 1 0.003
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 9 9 8
AREZREY mg/L 500 64
DIARIY ng/L 10 < <1 <1
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 <
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.6 0.7 0.7
pHIE — | 5.8~8.6 7.3 7.3 7.3
Bk — |BEThHLIE BEELL EEaL BBl
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.5 0.4 0.5 0.5
e8| 5% Bt o R mg/L 20 4
Bl|E =52 E(TON) — 3 4 A A
e e e _ —ﬁifil&lft _
BEBEGU TR %\lg@;m ii 1.4
REXEHE @/m| 2000 0
2 ZIHIE mg/L| — 32
o ERmERE 4S/om _ 100 105 105
LNRBRIEE260) | — — 0.009 0.009 0.008




FEKih s (BRKith4a) No.10 #xETHRt>2—(R3I)
HKERH EXh ; SH64E4 5238 | $F16%5821 H| $H1646 A 4H
FEIKERZ — (%ﬁ%) 9:05 10:00 9:40
KB °C =18 14.3 191 18.0
— = 18/ml 100 0 0 0
KGHE — |manhmnce T T T
BEUVZDIEEY meg/L|  0.01 <0.001
ANEOOLIEEY  [me/L]  0.02 <0.001
%ﬁ;‘%@’r’r “BU | oot <0.001
e me/L 0.6 0.05
YO OEEES meg/L|  0.02 <0.002
SOkl Ls meg/L|  0.06 0.016
DHOOOEER mg/L|  0.03 0.010
cJoE/OO0A2y  |[mg/L 0.1 0.002
REER meg/L|  0.01 <0.001
k) \OAR meg/L 0.1 0.026
k)OO OEFEE mg/L|  0.03 0.011
JOESH/O00A4 |me/L|  0.03 0.008

KooERILL meg/L|  0.09 <0.001
BIRILLTILTER mg/L|  0.08 <0.005
EHEMRUVZDEEY [me/L 1 <0.004
4@17':’%“%—'7""&”%0) me/l| 02 0.039
HEVZDIEEY meg/L 0.3 <0.01
HEUVZDIEEY mg/L 1 0.002
RUAVRUVEDIES Y| me/L|  0.05 <0.001
Bl A4 mg/L 200 8 16 8
AREZREY me/L 500 136
DIARIY ng/L 10 < <1 <
2—}%}1/4‘/#2‘)1/:3:7}-—» ng/L 10 {1 4 {1
ﬁéﬁé@%&%ﬁ%m% me/L 3 0.6 1.1 0.7
pHIE — | 5.8~8.6 7.3 7.3 7.2
Bk — |BEThHLIE EEihL EELL EELL
BR — |'gchunce| BEwaL| BEalL| B4l
BE E 5 <0.5 <0.5 <05
AE E 2 <0.1 <0.1 <0.1
vooo7tb=kJJL [mg/L| 0.01
|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 0.1 E 0.6 0.6 0.7
e8| 5% Bt o R mg/L 20 6
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